CRERTE, EXPLORE, SURVIVE

ITEM: 2A52368MCS MC2
1268 = 79 = 68 cm




WICHTIG! UR SPATERES NACHSCHLAGEN AUPBEMWAHREN! SORGFALTIG LESEN!

ATTENTION - PLEASE STORE FOR FURTHER ENQUIRIES!READ CAREFULY!

@ IMPORTANT!- CONSERVER POUR UNE UTILISKTION ULTERIEURE - LIRE ATENTIVENENT!
@ {ATENCION.- GUARDAR PARA UN USO POSTERIOR. - LEASE DETENIDANENTE

@ IVPORTANTE! - GUARDAR ARA FUTURAS CONSULTAS - ER COM ATENCAO

@ IMPORTANTE! CONSERVARE PER 'USO FUTURO - LEGGERE CON ATTENZIONE

BELANGRIK! - BEWAAR DE HANDLEIDING VOOR LATERE RAADPLEGING
TORGIULDIG LEZEN

VIGTGT BOR OPBEVARES TIL SENERE BRUG - SKAL L AES GRUNDIGT

VIKTIGT SPARAS FORFRANTIDA BRUK- MASTE LASAS NOGA

TARKEAA - SHLYTA NYOHEMPAA KAYTTCH VARTEN - LUE TARKKARVAISEST!

VIKTIG!- OPPBEVARES FOR SENERE BRUK - WA LESES NoYE!

@ WAZNELZACHOWAC NA PREYSZE0SC! STARANNIE PRZECZYTAC

@ DOLEETE-NAVOD S USCHOVETE PR POZDESTPOUETH- ECLNE 1) PROCTETE

e FONTOS! - KESCBBIFELHASTNALASRA ORIZZEJEG - GONDOSAN OLVASSAEL

e VAINO!- SACUVATI ZA KASNIU UPORABU - PAZLIVO PROCITATI

@ INPORTANT.- PTRATI PENTRU UTLIZARE ULTERIOARA -CITIT U ATENTIE

@ VAINO! - CLVATI A KASNYU UPOTREBU - PAZLING SVE PROCIAT!

e DOLEZITE! - NAVOD UCHOVATTENANESKORSIE POUEITE -
DOKLADNE S1 HO PRECTIATE

@ POVENBNO! - SHRANITE ZA KASNEIS0 UPORABO - TMELITO PREGERITE

@ ONEML-DAHA SONRA KULLANILMAK UZERE DE MUHAFZA EDINIZ-
DIKKATLE OKUYUNUZ!

ZHMANTIKO! - NA QYAAZZETAITIA APTOTEPH XPHZH - NA AIABAZETAI ME MPOZOXH!
BAKHO: BHUMATENBHO TPOUTHTE 1A COXPAHIATE!




Ax1

|

Bx2
Cx2 Dx2

TS

Ex1 Fx1 Gx2 Hx2

@ N

Ix4 Jx1 Kx1

O Qi O O Qur>
Mx6 Nx4 Ox2 Px2 Qx6

M8 x 60 mm M8 x 50 mm M8 x 16 mm M6 x 15 mm

/3




X /\% &



















ITEM: 227136MC
63x92 - 111,5x68 cm

ITEM: 527132MC
£1x114.5 - 12452625 cn

ITEM: 827131MC
£2x105,5 - 118=66,5 on

ITEM: 52713300
285116 - 124705 on




()

=
=

m
wn

e

e
z

a
=

[
m

F

Gebrauchsanleitung: Fur ein Maximum an Qualitat die Schrauben bei
Bedarf erneut anziehen. Mit einem leicht feuchten Tuch und mildem
Reinigungsmittel abwischen. Mit einem sauberen Tuch nachtrocknen.

Advice of use: For maximum quality, re-tighten the screws when
necessary. Wipe clean with a cloth dampened in a mild cleaner.
Wipe dry with a clean cloth.

Conseils d'utilisation: Pour garantir la stabilité du meuble, il est
nécessaire de resserrer régulierement toutes les vis. Nettoyer avec un
chiffon humide et une solution savonneuse. Essuyer avec un chiffon sec
et propre.

Instrucciones de uso: Para una calidad 6ptima, aprieta de nuevo los
tornillos cuando sea necesario. Limpia con un pafio humedecido con un
detergente suave. Seca con un pafio limpio.

Istruzioni per 'uso: Per una qualita ottimale, serra nuovamente le viti
quando & necessario. Pulisci con un panno inumidito in un detersivo
poco concentrato. Asciuga con un panno pulito.

Gebruiksaanwijzing: Voor maximale kwaliteit, de schroeven indien nodig
opnieuw aandraaien. Afnemen met een vochtig doekje met wat mild
schoonmaakmiddel. Nadrogen met een droge doek.

Godt at vide: Stram skruerne efter behov for at opna den bedste
kvalitet. Terres af med en fugtig klud tilsat et mildt rengeringsmiddel.
Tor efter med en ren klud.

Bruksanvisning: For maximal kvalitet, dra at skruvarna pa nytt vid
behov. Torka med en trasa fuktad med milt rengéringsmedel.
Eftertorka med torr trasa.

Kayttéohjeet: Parhaan mahdollisen laadun varmistamiseksi kirista
ruuveja aina kun tarpeen. Puhdistetaan mietoon puhdistusaineeseen
kostutetulla liinalla. Kuivataan puhtaalla liinalla.

Rad om bruk: For best mulig kvalitet bar skruene etterstrammes
ved behov. Terk av med en klut fuktet i et mildt rengjeringsmiddel.
Tork over med en ren klut.

Wskazoéwki dotyczgce uzytkowania: Dla zapewnienia najwyzszej jakosci,
dokreci¢ Sruby w razie potrzeby. Przeciera¢ migekka szmatka zwilzong
tagodnym $rodkiem czyszczgcym. Wyciera¢ do sucha czystg szmatka

Navod k pouZziti: V pripadé potfeby dotdhnéte Srouby, abyste dosahli
nejvy3si kvality. Otirejte navihéenym hadfikem a jemnym Cisticim
prostfedkem. Otfete do sucha €istym hadfikem.

Haszndlati Gtmutaté: A maximalis minéség érdekében sziikség esetén
rendszeresen hizd meg a csavarokat. Enyhe tisztitészeres vizbe aztaott
ronggyal térold tisztara. Egy tiszta ronggyal térold szarazra.

Upute za upotrebu: Za maksimalnu kvalitetu ponovno zategnuti vijke po
potrebi. Ocistiti krpom namocenom u blago sredstvo za ¢iS¢enje.
Prebrisati ¢Cistom krpom.

Recomandare de utilizare: Pentru calitate optimd, strange din nou
suruburile cand este necesar. Sterge cu o carpa inmuiata in detergent
delicat pentru curatare. Sterge cu o carpa uscata.

UZitocné rady: V pripade potreby dotiahnite skrutky. Ziskate tak
maximalnu moznu kvalitu stola. Stdl Cistite handri¢kou navih¢enou
jemnym Cistiaci prostriedkom. Utrite dosucha cistou handri¢kou.

Nasveti za uporabo: Za najvisjo kakovost, vijake po potrebi dodatno privij.

Obrisi s krpo, navlaZzeno z blagim ¢istilom. Obrisi do suhega s €isto krpo.

Kullanim tavsiyesi: Maksimum kalite icin gerektiginde vidalari tekrar
sikiniz. Hafif nemli bir bez ile siliniz. Temiz bir bez ile kurulayiniz.

CoBeTbl N0 UCMO/b30BaHWIO: [/18 06ecrneyeHrs MakCMMabHOro
KayecTsa Npu HeO6X0AVMOCTN NOATArVIBaNTE LWYpPYyMbI.
MpoTupaiite TkaHb0, CMOYEHHOMN MArKVIM MOLLIIM CPeACTBOM.
BbITUparTe YMCTON Cyxoli TKaHbHo.

o175

1



RESPONSIBILITY:

INFO:

S oy  +41 41 720 3863
serwicelphosnix—agroup.ch

grou?

phoenix

@ smart | ling | concepts

Take part in aur rafflel
Farticiper a notre tirage ausort!
Hehmen Sie an unserem Dewinnspisl teill

L hosenix-graue.ch

MM

16 p={5] 26 Gls) SH [=15] T {=15) Q6 166 116
\ © 2024 Mojang AB. TM Microsoft Corporation




